

### **Missouri Department of Transportation** Contractor's Pay Estimate Summary

### Pay Estimate Created Date: November 3, 2025

	Contract ID Prime Contra	240621- ctor Capital F	A01 Paving & Construction, LLC	Pay Period Start Pay Period End	October 10 November		Original Contract Amount Net Change Order Amount Current Contract Amount	\$16,292,916.43 \$76,691.12 \$16,369,607.55			
Approval Date								By User			
November 4, 2025		at the Project Office Level by	brobsr1								
November 4, 2025		Resident Engineer Level by	gillej								
November 4, 2025		e Controllers Office Level by	ramses1								
Original Completi	Original Completion Date Current Completion Date Actual Completion Date % of Current Contract A										
November 1, 2	2025	Nove	ember 1, 2025				96.25%				
	C	ontract Inform	ational Dates				Milestones				
Date Description	Original Con	npletion Date	Current Completion Date	е	No Milesto	ones Exis	t for Contract				
Acceptance Date											
Awarded Date	July 10, 2024		July 10, 2024								
Letting Date	June 21, 202	4	June 21, 2024								
Notice to Proceed Date	February 3, 2	025	February 3, 2025								
Work Began Date	May 28, 2025	5	May 28, 2025								

Contract Total Pay For Estimate No. 12												
		This Estimate	Previous	To Date								
240621-A01												
	Total Posted Items Pay	\$1,534,731.62	\$14,221,429.31	\$15,756,160.93								
	Gross Item Adjustments	(\$1,237,295.29)	(\$422,018.64)	(\$1,659,313.93)								
	Incentive	\$0.00	\$0.00	\$0.00								
	Disincentive	\$0.00	\$0.00	\$0.00								
	Liquidated Damage	\$0.00	\$0.00	\$0.00								
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00								
	•		\$13,799,410.67	\$14,096,847.00								
<b>Contract Total Pa</b>	yable This Estimate:	\$297,436.33										

# Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J1P3367	0010	2022010	REMOVAL OF IMPROVEMENTS	LS	\$15,700.000	1	\$15,700.00
	0030	2153000	SHAPING SLOPES, CLASS III	100F	\$950.000	22.600	\$21,470.00
	0050	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	TONS	\$41.540	2,216.100	\$92,056.79
	0060	4011231	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	TONS	\$98.710	6,576.300	\$649,146.57
	0800	4030101	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP125C MIX)	TONS	\$95.450	4,901.600	\$467,857.72
	0090	4071005	TACK COAT	GAL	\$2.780	7,212	\$20,049.36
	0240	6221003	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (GREATER THAN 3 IN. THICK)	SQYD	\$4.220	7,402.800	\$31,239.82
	0250	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$4.370	12,455.300	\$54,429.66
	0260	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	STA	\$10.250	2,558	\$26,219.50
	0270	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	STA	\$10.250	1,405.500	\$14,406.38
	0340	6061060	MGS GUARDRAIL	LF	\$25.000	800	\$20,000.00
	0360	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	EA	\$3,540.000	15	\$53,100.00
	0380	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	EA	\$3,000.000	14	\$42,000.00
	0390	6066400	GUARDRAIL, RELOCATED AND MODIFIED	LF	\$27.500	50	\$1,375.00
	0400	6069902	MISC.GUARDRAIL POSTS IN CONCRETE	EA	\$249.000	11	\$2,739.00
Project J1F	23367 - To	tal					\$1,511,789.80
JNW0024	0410	2022010	REMOVAL OF IMPROVEMENTS	LS	\$13,000.000	1	\$13,000.00
	0420	2072000	LINEAR GRADING CLASS 2	STA	\$2,470.910	2	\$4,941.82
	0430	2153000	SHAPING SLOPES, CLASS III	100F	\$1,000.000	5	\$5,000.00
Project JN	N0024 - To	otal					\$22,941.82
Overall - To	otal						\$1,534,731.62

### **Contract Adjustments This Estimate**

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Revision 10/17/2025 Page 1 of 16



# Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 3, 2025

<b>Estimat</b>	gress e Numl 12		621-A01 iital Paving & Co	nstruction, LI	C Pay Period End November 1, 2025	Original Contrac Net Change Orde Current Contract	er Amount	\$16,292,916.43 \$76,691.13 \$16,369,607.5
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
1P3367	0030	SHAPING SLOPES, CLASS	MaterialCredit			15.10000	\$950.00	\$14,345.00
	0050	MISC.	MaterialCredit			2,011.30000	\$41.54	\$83,549.40
	0060	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	Material			-10,526.60000	\$98.71	(\$1,039,080.69
	0060 BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)		Other Item Adjustment	Asphalt Cement Price Adjustment	This adjustment is being made for the 6576.3 tons of BP-1 asphalt laid during this estimate period.			(\$16,613.38
	0060	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	Overrun		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	-665.80000	\$98.97	(\$65,893.53
	0060	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,819.60000	\$0.26	\$471.20
	0060	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,410.30000	\$0.26	\$624.17
	0060	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,673.90000	\$0.26	\$433.47
	0060	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	672.50000	\$0.26	\$174.15
	0080	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP125C MIX)	Other Item Adjustment	Asphalt Cement Price Adjustment	This adjustment is being made for the 4,901.6 tons of SP125 asphalt laid during this estimate period.			(\$12,670.64)
	0800	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP125C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	84.90000	\$0.26	\$21.99
	0800	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP125C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,077.60000	\$0.26	\$538.02
	0800	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP125C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,739.10000	\$0.26	\$709.32
	0090	TACK COAT	Overrun			-7,212	\$2.78	(\$20,049.36
	0340	MGS GUARDRAIL	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$10,080.41
	0340	MGS GUARDRAIL	Material			-1,287.50000	\$25.00	(\$32,187.50
	0340	MGS GUARDRAIL	MaterialCredit			487.50000	\$25.00	\$12,187.50
	0360	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$30,900.00
	0360	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	Material			-27	\$3,540.00	(\$95,580.00
	0360	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	MaterialCredit			12	\$3,540.00	\$42,480.00
	0370	MGS END ANCHOR	Material			-1	\$955.00	(\$955.00
	0370	MGS END ANCHOR	MaterialCredit			1	\$955.00	\$955.00
			Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$23,660.00
	0380	TYPE A CRASHWORTHY END TERMINAL (MASH)	Material			-24	\$3,000.00	(\$72,000.00
	0380	TYPE A CRASHWORTHY END TERMINAL (MASH)	MaterialCredit			10	\$3,000.00	\$30,000.00
	0390	GUARDRAIL, RELOCATED AND MODIFIED	Material			-100	\$27.50	(\$2,750.00
	0390	GUARDRAIL, RELOCATED AND MODIFIED	MaterialCredit			50	\$27.50	\$1,375.00

Revision 10/17/2025 Page 2 of 16



# Missouri Department of Transportation Contractor's Pay Estimate Summary

## Pay Estimate Created Date: November 3, 2025

Estimat	gress e Numl 12	Contract ID ber Prime Contractor	240621-A01 Capital Paving & Co	nstruction, LLC	Pay Period Start Pay Period End		Original Contrac Net Change Orde Current Contrac	er Amount	\$16,292,916.43 \$76,691.12 \$16,369,607.55
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comm	Comments		Line Item Adjustment Unit Price	Adjustment amount
J1P3367	0400	MISC.	Material				-16	\$249.00	(\$3,984.00)
	0400	MISC.	MaterialCredit				5	\$249.00	\$1,245.00
Total									(\$1,237,295.29)

Revision 10/17/2025 Page 3 of 16



# Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Со	ntract Project Informatio	n								
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work										
J1P3367	FAF-65-4 (47)	Resurface and improve shoulders	65	CARROLL	from Route 36 in Ch	rom Route 36 in Chillicothe to 0.54 mile south of Route CC in Carrollton									
JNW0024	FAF-65-4(45)	Resurface and improve shoulders	65	CARROLL	from 0.54 mile south of Route CC to 0.04 mile north of County Road 368, near Carrollton										
Totals b	by Job Numbers														
J1P3367	<u> </u>		This Estimate \$1,511,789.80 (\$1,237,295.29) \$274,494.51	Previous \$8,983,293.07 (\$306,948.42) \$8,676,344.65	To Date \$10,495,082.87 (\$1,544,243.71) \$8,950,839.16										
	Incentive Disincentiv Liquidated Other Cont		ents		\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00										
JNW0024	Posted Iter Gross Item	Adjustments	oss Iten	n Pay	This Estimate \$22,941.82 \$0.00 <b>\$22,941.82</b>	Previous \$5,238,136.24 (\$115,070.22) \$5,123,066.02	To Date \$5,261,078.06 (\$115,070.22) \$5,146,007.84								
	Incentive Disincentiv Liquidated Other Cont		ents		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00								

Revision 5/29/2025 Page 4 of 16



# Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

## **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J1P3367, Item 4011231, Project Item Line Number 0060, Material Set 4011231, Material 0403SP125CLG - Superpave 12.5 mm, Des C Low Gyros, Acceptance Action Generic AspHigh is insufficient.	No QC testing has been entered into the system	brobsr1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J1P3367, Item 6061060, Project Item Line Number 0340, Material Set 606106096, Material 1040GRSRCAT2 - Steel Beam for Class A Type 2 Guard Rail, Acceptance Action Generic 1040GRSRCAT2 is insufficient.	Currently waiting on material to be reported	brobsr1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J1P3367, Item 6061060, Project Item Line Number 0340, Material Set 606106096, Material 1065DE - Delineators, Acceptance Action Generic 1065DE is insufficient.	Currently waiting on material to be reported	brobsr1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J1P3367, Item 6061069, Project Item Line Number 0360, Material Set 606106996, Material 1040GRAB - Bridge Anchor Section, Acceptance Action Generic 1040GRAB is insufficient.	Currently waiting on material to be reported	brobsr1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J1P3367, Item 6061080, Project Item Line Number 0370, Material Set 606108096, Material 1040GRBEESCAT2 - Breakaway End Anchor End Sect CI A Typ 2, Acceptance Action Generic 1040GRBEESCAT2 is insufficient.	Currently waiting on material to be reported	brobsr1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J1P3367, Item 6063014, Project Item Line Number 0380, Material Set 606301496, Material 1040GRCWA - Crashworthy End Terminal Type A, Acceptance Action Generic 1040GRCWA is insufficient.	Currently waiting on material to be reported	brobsr1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J1P3367, Item 6066400, Project Item Line Number 0390, Material Set 6066400, Material 3099XX - See Remarks for Description of Material, Acceptance Action Generic 3099XX is insufficient.	Currently waiting on material to be reported	brobsr1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J1P3367, Item 6069902, Project Item Line Number 0400, Material Set 6069902, Material 1040GRPSST - Steel Post for Guard Rail, Acceptance Action Generic 1040GRPSST is insufficient.	Currently waiting on material to be reported	brobsr1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240621-A01, Contract Project JNW0024, Project Item Line Number 0440, Contract Line Item Number 0440, Item 3049910, Minor Item.	pending a change order	brobsr1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240621-A01, Contract Project J1P3367, Project Item Line Number 0060, Contract Line Item Number 0060, Item 4011231, Minor Item.	pending a change order	brobsr1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240621-A01, Contract Project J1P3367, Project Item Line Number 0090, Contract Line Item Number 0090, Item 4071005, Minor Item.	pending a change order	brobsr1	Acknowledged

Revision 5/29/2025 Page 5 of 16



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Project Category Line Item Description Bid Net Total Unit Total

osted Qua	antities and	d Values	are based	on Report Generated date and can differ from the poste	ed amount a	t the time	the Estimat	e was 0	Generated.		
et Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTEI To Date (See report generated date)
- J1P3367	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$15,700.00	\$15,700.0
	0001	0020	2129900	MISC.SHOULDER GRADING	429.00	0.00	429.00	100F	429.00	\$281.57	\$120,793.
	0001	0030	2153000	SHAPING SLOPES, CLASS III	55.00	0.00	55.00	100F	37.70	\$950.00	\$35,815.
	0001	0040	2161501	REMOVAL OF ASPHALT WEARING SURFACE	30,653.00	0.00	30,653.00	SQFT	30,653.00	\$2.76	\$84,602.
	0001	0050	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	5,034.80	0.00	5,034.80	TONS	4,227.40	\$41.54	\$175,606.2
	0001	0060	4011231	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	9,860.80	0.00	9,860.80	TONS	10,526.60	\$98.71	\$1,039,080.0
	0001	0070	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	27,217.60	-2,133.90	25,083.70	TONS	25,083.70	\$84.25	\$2,113,301.7
	0001	0800	4030101	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP125C MIX)	59,748.80	0.00	59,748.80	TONS	56,979.80	\$95.45	\$5,438,721.9
	0001	0090	4071005	TACK COAT	48,637.00	0.00	48,637.00	GAL	59,876.00	\$2.78	\$166,455.2
	0001	0100	4091048	EMULSIFIED ASPHALT, SEAL COAT	1,294.00	0.00	1,294.00	GAL	1,294.00	\$3.00	\$3,882.
	0001	0110	4094001	SEAL COAT AGGREGATE, GRADE A1	3,406.00	0.00	3,406.00	SQYD	3,406.00	\$5.00	\$17,030.0
	0001	0120	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	2.00	0.00	2.00	EA	1.00	\$4,800.00	\$4,800.0
	0001	0130	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	1.00	\$32,750.00	\$32,750.
	0001	0140	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00		\$0.0
	0001	0141	6181000	MOBILIZATION	0.00	1.00	1.00	LS		\$434,225.54	\$434,225.
	0001	0150	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	4.00	0.00	4.00	EA	0.00	\$600.00	\$0.0
	0001	0160	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	36.00	0.00	36.00	LF	0.00	\$20.00	\$0.0
	0001	0170	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	4.00	0.00	4.00	EA	0.00	\$325.00	\$0.0
	0001	0180	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	2.00	0.00	2.00	EA	0.00	\$1,250.00	\$0.0
	0001	0190	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	218,268.00	0.00	218,268.00	LF	0.00	\$0.20	\$0.0
	0001	0200	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	311,657.00	0.00	311,657.00	LF	0.00	\$0.26	\$0.0
	0001	0210	6206125A	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	425.00	0.00	425.00	LF	0.00	\$1.00	\$0.
	0001	0220	6209901	MISC.TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	0.00	\$0.14	\$0.0
	0001	0230	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	423.00	0.00	423.00	SQYD	0.00	\$38.88	\$0.
	0001	0240	6221003	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (GREATER THAN 3 IN. THICK)	98,898.00	0.00	98,898.00	SQYD	98,465.80	\$4.22	\$415,525.
	0001	0250	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	22,035.00	0.00	22,035.00	SQYD	20,980.70	\$4.37	\$91,685.
	0001	0260	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	2,558.00	0.00	2,558.00	STA	2,558.00	\$10.25	\$26,219.
	0001	0270	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	1,405.50	0.00	1,405.50	STA	1,405.50	\$10.25	\$14,406.
	0001	0280	8025006	MULCHING	2.00	0.00	2.00	ACRE	0.00	\$2,000.00	\$0.
	0001	0290	8051000A	SEEDING - COOL SEASON GRASSES	2.00	0.00	2.00	ACRE	0.00	\$2,000.00	\$0.
	0001	0300	8061005	ROCK DITCH CHECK	948.00	0.00	948.00	LF	0.00	\$15.00	\$0.
	0001	0310	8061016	SEDIMENT REMOVAL	180.00	0.00	180.00	CUYD	0.00	\$73.02	\$0.
	0001	0320	8061017	TEMPORARY SEEDING	2.00	0.00	2.00	ACRE	0.00	\$1,000.00	\$0.0
	0001	0330	8061019	SILT FENCE	10,104.00	0.00	10,104.00	LF	0.00	\$2.50	\$0.0
	0010	0340	6061060	MGS GUARDRAIL	1,613.00	0.00	1,613.00	LF	1,287.50	\$25.00	\$32,187.
	0010	0350	6061068	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	2.00	0.00	2.00	EA	0.00	\$3,659.00	\$0.
	0010	0360	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	32.00	0.00	32.00	EA	27.00	\$3,540.00	\$95,580.0
	0010	0370	6061080	MGS END ANCHOR	1.00	0.00	1.00	EA	1.00	\$955.00	\$955.0
	0010	0380	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	29.00	0.00	29.00	EA	24.00	\$3,000.00	\$72,000.0
	0010	0390	6066400	GUARDRAIL, RELOCATED AND MODIFIED	200.00	0.00	200.00	LF	100.00	\$27.50	\$2,750.0
	0010	0400	6069902	MISC.GUARDRAIL POSTS IN CONCRETE	60.00	0.00	60.00	EA	16.00	\$249.00	\$3,984.
	0001	5001	6189901	MISC.Contract Bond Payment	0.00	1.00	1.00	LS	1.00	\$57,025.00	\$57,025.0
Project J	11P3367 - To	tal Value	Posted to Da	ate as of Report Generated Date							\$10,495,082.8
JNW0024	1 0001	0410	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$13,000.00	\$13,000.0
	0001	0420	2072000	LINEAR GRADING CLASS 2	3.50	0.00	3.50	STA	2.00	\$2,470.91	\$4,941.8
	0001	0430	2153000	SHAPING SLOPES, CLASS III	5.00	0.00	5.00	100F	5.00	\$1,000.00	\$5,000.
	0001	0440	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	3,300.70	0.00	3,300.70	TONS	4,146.70	\$48.64	\$201,695.
	0001	0450	4011231	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	9,487.00	2,927.60	12,414.60	TONS	12,414.60	\$96.89	\$1,202,850.
	0001	0460	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	777.50	-74.00	703.50	TONS	703.50	\$110.22	\$77,539.
	0001	0470	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	27,388.10	-182.10	27,206.00	TONS	27,206.00	\$107.25	\$2,917,843.5
	0001	0480	4071005	TACK COAT	25,730.00	2,209.00	27,939.00	GAL	27,939.00	\$2.78	\$77,670.4

Revision 5/29/2025 Page 6 of 16



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240621- A01	JNW0024	0001	0500	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	74.80	1.50	76.30	TONS	76.30	\$113.32	\$8,646.32
		0001	0510	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	453.30	9.40	462.70	SQYD	462.70	\$324.04	\$149,933.31
		0001	0520	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	2.00	0.00	2.00	EA	1.00	\$2,750.00	\$2,750.00
		0001	0530	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	1.00	\$27,750.00	\$27,750.00
		0001	0540	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$214,022.95	\$214,022.95
		0001	0550	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	4.00	0.00	4.00	EA	0.00	\$600.00	\$0.00
		0001	0560	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	201.00	0.00	201.00	LF	0.00	\$20.00	\$0.00
		0001	0570	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	4.00	0.00	4.00	EA	0.00	\$325.00	\$0.00
		0001	0580	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	41,497.00	715.00	42,212.00	LF	0.00	\$0.20	\$0.00
		0001	0590	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	123,800.00	2,358.00	126,158.00	LF	0.00	\$0.26	\$0.00
		0001	0600	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	17,022.00	0.00	17,022.00	LF	0.00	\$0.26	\$0.00
		0001	0610	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	1,511.00	0.00	1,511.00	LF	0.00	\$0.52	\$0.00
		0001	0620	6206125A	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,814.00	0.00	1,814.00	LF	0.00	\$1.00	\$0.00
		0001	0630	6209901	MISC.TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	0.00	\$0.14	\$0.00
		0001	0640	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	4,067.00	0.00	4,067.00	SQYD	4,067.00	\$5.11	\$20,782.37
		0001	0650	6221003	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (GREATER THAN 3 IN. THICK)	3,369.00	0.00	3,369.00	SQYD	3,369.00	\$7.88	\$26,547.72
		0001	0660	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	19,965.00	-1,063.00	18,902.00	SQYD	17,630.90	\$9.04	\$159,383.34
		0001	0670	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	965.60	0.00	965.60	STA	945.39	\$10.25	\$9,690.25
		0001	0680	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	441.50	0.00	441.50	STA	293.01	\$10.25	\$3,003.35
		0001	0690	8025006	MULCHING	1.00	0.00	1.00	ACRE	0.00	\$2,000.00	\$0.00
		0001	0700	8051000A	SEEDING - COOL SEASON GRASSES	1.00	0.00	1.00	ACRE	0.00	\$2,000.00	\$0.00
		0001	0710	8061006	ALTERNATE DITCH CHECK	64.00	0.00	64.00	LF	0.00	\$8.00	\$0.00
		0001	0720	8061016	SEDIMENT REMOVAL	3.00	0.00	3.00	CUYD	0.00	\$57.25	\$0.00
		0010	0730	6061060	MGS GUARDRAIL	150.00	0.00	150.00	LF	0.00	\$25.00	\$0.00
		0010	0740	6061080	MGS END ANCHOR	2.00	0.00	2.00	EA	0.00	\$955.00	\$0.00
		0010	0750	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	2.00	0.00	2.00	EA	0.00	\$3,000.00	\$0.00
		0040	0760	9031210	STRUCTURAL STEEL POSTS	90.00	0.00	90.00	LB	0.00	\$9.00	\$0.00
		0040	0770	9031241	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	1.00	0.00	1.00	EA	0.00	\$388.00	\$0.00
		0040	0780	9031242	36 IN. SURFACE-MOUNT DELINEATOR POST	16.00	0.00	16.00	EA	0.00	\$83.00	\$0.00
		0040	0790	9031270A	2 IN. PSST POST - 12 GA.	9.00	0.00	9.00	LF	0.00	\$23.00	\$0.00
		0040	0800	9031272A	2.25 IN. PSST POST INSERT (6 FT.) - 12 GA.	1.00	0.00	1.00	EA	0.00	\$100.00	\$0.00
		0040	0810	9031273A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 7 GA.	1.00	0.00	1.00	EA	0.00	\$158.00	\$0.00
		0040	0820	9031280	2.5 IN. PSST POST - 12 GA.	22.00	0.00	22.00	LF	0.00	\$25.00	\$0.00
		0040	0830	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	1.00	0.00	1.00	EA	0.00	\$170.00	\$0.00
		0040	0840	9031285	CONCRETE POST ANCHOR FOR 2.5 IN. PSST 7 GA.	1.00	0.00	1.00	EA	0.00	\$279.00	\$0.00
		0040	0850	9035004A	SH-FLAT SHEET	337.00	0.00	337.00	SQFT	0.00	\$31.00	\$0.00
		0040	0860		ST-STRUCTURAL	1,372.00	0.00	1,372.00	SQFT	0.00	\$34.00	\$0.00
	Project JN	IW0024 - To			Date as of Report Generated Date	.,5,2,50	3.55	.,312.00		3.30	\$51.50	\$5,261,078.03
240621-4					of Report Generated Date							\$15,756,160.89
	Overall	. Otal vall										Ç.0,100,100.03

Revision 5/29/2025 Page 7 of 16



### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work,

Project: J1P3367

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2022010	REMOVAL OF IMPROVEMENTS	10/30/25	11/3/25	1	1.00	LS		0+02		1441+89		all of the guardrail has been removed and replaced.
0030	2153000	SHAPING SLOPES, CLASS III	10/29/25	10/29/25	1	22.60	100F	Various bridge ends					This is a compiled list of pay Items for the guardrail installation from 10/10/25 is 10/17/25. This work was compiled at the following locations. Mound creek SE corner, NE corner Shoctiman creek NW corner. SW corner. SE corner. NE corner Little Wakenda Creek NW. SW. NE, SE corner Shoal Creek overflow SE, NE corner Shoal Creek NE, SW, NW corner
0050	3049910	MISC. AGGREGATE FOR BASE	10/16/25	10/18/25	1	560.80	TONS	Northbound shoulder					
			10/17/25	10/20/25	1	791.00	TONS	along the edge of the shoulder					Work was completed on 10/14/25
			10/20/25	10/22/25	1	707.70	TONS		0+00		66+24		
			10/21/25	10/24/25	1	156.60	TONS	Route z and other entrances					
0060	4011231	BIT. PAVEMENT MIXTURE PG58-28H (BP-1)	10/16/25	10/18/25	1	1,819.60	TONS	4" mill and fill shoulder and various entrances	120+63		78+58		
			10/17/25	10/20/25	1	2,410.30	TONS		66+28		0+00		8-foot shoulder and also various entrances.
			10/18/25	10/21/25	1	1,673.90	TONS	10' shoulder	120+63		198+51		southbound shoulder and then northbound shoulder
			10/20/25	10/22/25	1	672.50	TONS	northbound and southbound shoulder	728+61		1033+21		shoulder paving was completed at the following locatio today. 728+61 to 735+61 1013+21 to 1033+21
080	4030101	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP1	10/16/25	10/18/25	1	84.90	TONS	Turn lane for the bio diesel plant	1060+42				
			10/17/25	10/20/25	1	2,077.60	TONS		0+00		149+78		work was completed on 10/14/25
			10/18/25	10/21/25	1	2,739.10	TONS	Northbound	228+26		36+00		This asphalt was laid on 10/13/25 at the following locations 228+62 to 186+77 182+46 to 152+03 149+77 to 120+63 84+66 to 78+58 66+28 to 36+00
0090	4071005	TACK COAT	10/16/25	10/18/25	1	501.00	GAL	shoulders, turn lane and various entrances					
			10/17/25	10/20/25	1	1,478.00	GAL	shoulder and entrances					
				10/20/25	2	1,458.00	GAL		0+00		149+78		Tack was shot on 10/14 for the SP125
			10/18/25	10/21/25	1	1,945.00	GAL	northbound					This was shot on 10/13/25 at the following locations 228+62 to 186+77 182+46 to 152+03 149+77 to 120+63 84+66 to 784-88 66+28 to 36+00 1039+82 to 1025+42
				10/21/25	2	1,215.00	GAL	southbound shoulder and then the northbound shoulder	120+63		198+51		
			10/20/25	10/22/25	1	615.00	GAL	northbound and southbound shoulder	728+61		1033+21		shoulder paving was completed at the following locatio today. 728+61 to 735+61 1013+21 to 1033+21
0240	6221003	COLDMILLING BITUMINOUS PAVEMENT FOR REM	10/30/25	11/3/25	1	7,402.80	SQYD		84+65		104+03		shoulders northbound and southbound in the concrete section and the RR bridge
0250	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	10/30/25	11/3/25	1	12,455.30	SQYD		1+02		1558+63		various locations throughout the project at the areas indicated in the plans. The only deviation was the modified cold milling on the Route 36 ramps and the transition at the south end of the project was omitted.
0260	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	10/30/25	11/3/25	1	2,558.00	STA		17+78		1557+13		
0270	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	10/30/25	11/3/25	1	1,405.50	STA		17+78		1557+13		
0340	6061060	MGS GUARDRAIL	10/29/25	10/29/25	1	800.00	LF	Various locations					This is a compiled list of pay items for the guardrail installation from 1010/25 to 1017/25. This work was completed at the following locations. Mound creek Sc corner, NE corner. Shoctman creek NW corner. SW corner. SE corner. NI cuttle Valenda Creek NW. SW. NE, SE corner Shoctman Creek NW. SW. NE, SE corner Shoct Creek overflow SE, NE corner Shoal Creek NE, SW, NW corner.
0360	6061069	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	10/29/25	10/29/25	1	15.00	EA	Various locations					This is a compiled list of pay Items for the guardrail installation from 10/10/25 to 10/17/25. This work was completed at the following locations.  Mound creek SE corner, NE corner Shootman creek NW corner. SW corner. SE corner. Ni corner
													Little Wakenda Creek NW. SW. NE, SE corner Shoal Creek overflow SE, NE corner Shoal Creek NE, SW, NW corner
380	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	10/29/25	10/29/25	1	14.00	EA	Various locatins					This is a compiled list of pay items for the guardrali installation from 1010/25 to 1017/126. This work was completed at the following locations. Mound creek SE corner, NE corner Shoothman creek NW corner. SW corner. SE corner Ne corner Shoothman creek NW corner. SE corner Shoal Creek NE, SE, WE corner Shoal Creek vertlow SE, NE corner Shoal Creek NE, SW, NW corner Lillle Wakenda creek called for a relocation, but the existing end was damaged and needed to be complete replaced which will result in an overun.
0390	6066400	GUARDRAIL, RELOCATED AND MODIFIED	10/29/25	10/29/25	1	50.00	LF	Little Wakenda creek	1441+14				This creek called for 50' of relocation on two corners by the existing corner was already damaged and need replaced instead of relocating. This will be an overrun of this line item.
0400	6069902	MISC. GUARDRAIL ITEM	10/29/25	10/29/25	1	11.00	EA		0+00				an agreement was made between the contractor and the Resident Engineer to pay a total of 16 posts in concrete for the removal of the concrete drain at the Route 36 bridge end.

### Project: JNW0024

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.		Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0410	2022010	REMOVAL OF IMPROVEMENTS	10/30/25	11/3/25	1	1.00	LS		720+94		21+81		All of the guardrail has been removed and replaced
0420	2072000	LINEAR GRADING CLASS 2	10/21/25	10/24/25	1	2.00	STA	median pier protection at Route 24 overpass	757+03		760+57		only 200 feet of Grading was required.
0430	2153000	SHAPING SLOPES, CLASS III	10/21/25	10/24/25	1	5.00	100F	median pier protection	759+63		763+20		

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 8 of 16



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J1P3367	0030	SHAPING SLOPES, CLASS	Material		10	Oct 2, 2025	SYSTEM	(\$8,835.00)	
		III			11	Oct 17, 2025	SYSTEM	(\$14,345.00)	
				- Total				(\$23,180.00)	
			Material - Tota	ıl				(\$23,180.00)	
			MaterialCredit		11	Oct 17, 2025	SYSTEM	\$8,835.00	
					12	Nov 3, 2025	SYSTEM	\$14,345.00	
				- Total				\$23,180.00	
			MaterialCredit	- Total				\$23,180.00	
	0030 -	Total						\$0.00	
	0050	MISC. AGGREGATE	Material		11	Oct 17, 2025	SYSTEM	(\$83,549.40)	
		FOR BASE		- Total				(\$83,549.40)	
			Material - Tota	ıl				(\$83,549.40)	
			MaterialCredit		12	Nov 3, 2025	SYSTEM	\$83,549.40	
				- Total				\$83,549.40	
			MaterialCredit	- Total				\$83,549.40	
	0050 -	Total						\$0.00	
	0060	BIT. PAVEMENT MIXTURE	Material		12	Nov 3, 2025	SYSTEM	(\$1,039,080.69)	
		PG58-28H (BP-1)		- Total				(\$1,039,080.69)	
			Material - Tota	al - Total				(\$1,039,080.69)	
			Other Item Adjustment	ACAD	10	Oct 2, 2025	brobsr1	(\$4,974.69)	This adjustment is being made for the 1,969.2 tons of BP1 asphalt laid during this estimate period.
					11	Oct 17, 2025	brobsr1	(\$5,120.89)	This adjustment is being made for the 1981 tons of asphalt that pas paid as BP1 during this estimate period.
					12	Nov 4, 2025	brobsr1	(\$16,613.38)	This adjustment is being made for the 6576.3 tons of BP-1 asphalt laid during this estimate period.
				ACAD - Tota				(\$26,708.96)	
			Other Item Ad	justment - To	tal			(\$26,708.96)	
			Overrun	Overrun	12	Nov 3, 2025	SYSTEM	(\$65,893.53)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				Overrun - T	otal			(\$65,893.53)	
			Overrun - Tota	al				(\$65,893.53)	
			Price FUEL		10	Oct 2, 2025	SYSTEM	\$849.90	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					11	Oct 17, 2025	SYSTEM	\$513.03	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					12	Nov 3, 2025	SYSTEM	\$1,702.99	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$3,065.92	
			Price FUEL - 1	otal				\$3,065.92	
	0060 -	Total						(\$1,128,617.26)	
	0070	BITUMINOUS PAVEMENT	Other Item Adjustment	ACAD	2	Jun 2, 2025	brobsr1	(\$19,408.37)	This adjustment is for the 6,882.4 tons of Bit Base used and paid for on Estimate No. 0002.
		MIXTURE PG64-22 (BAS			3	Jun 16, 2025	brobsr1	\$19,408.37	A \$19,408.37 AC adjustment was made on Estimate # 0002 for 6882.4 tons of Asphalt placed during that estimate period. I inadvertently used 4.8% virgin AC instead of 3.9%. This adjustment is to zero out this incorrect AC adjustment.
					3	Jun 16, 2025	brobsr1	(\$41,430.61)	This adjustment is being made for the 18,082.1 tons of Bit Base asphalt laid during this payment estimate.
					3	Jun 16, 2025	brobsr1	(\$15,769.30)	This adjustment is being made for the 6,882.4 tons of Bit Base laid in during the estimate 0002 period.
					4	Jun 30, 2025	brobsr1	(\$273.12)	This AC adjustment is being made for the 119.2 tons of Bit Base material that was placed during this estimate period.
			ACAD - Tota	al			(\$57,473.03)		



ect	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
67	0070	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BAS	Other Item Ad	justment - To	otal			(\$57,473.03)	
			Price FUEL		2	Jun 2, 2025	SYSTEM	(\$3,655.93)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					3	Jun 16, 2025	SYSTEM	(\$12,246.63)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					4	Jun 30, 2025	SYSTEM	(\$80.73)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$15,983.29)	
			Price FUEL - 1	otal				(\$15,983.29)	
	0070 - Total							(\$73,456.32)	
	0800	ASPHALTIC CONCRETE	Material		10	Oct 2, 2025	SYSTEM	(\$1,098,362.24)	
		MIXTURE PG 64-22 (SP1			10	Oct 2, 2025	SYSTEM	\$1,098,362.24	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user brobsr1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					11	Oct 17, 2025	SYSTEM	(\$4,970,864.19)	
					11	Oct 17, 2025	SYSTEM	\$4,970,864.19	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user brobsr1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
			Other Item Adjustment	ACAD	10	Oct 2, 2025	brobsr1	(\$29,746.11)	This adjustment is being made for the 11,507.2 tons of SP125 asphalt that was laid during this estimate period.
					11	Oct 17, 2025	brobsr1	(\$104,876.04)	This adjustment is being made for the 40,571.0 tons of SP125 asphalt place and paid for during this estimate period.
					12	Nov 4, 2025	brobsr1	(\$12,670.64)	This adjustment is being made for the 4,901.6 tons of SP125 asphalt laid during this estimate period.
				ACAD - Tot	al			(\$147,292.79)	
			Other Item Adjustment - Total					(\$147,292.79)	
			Price FUEL		10	Oct 2, 2025	SYSTEM	\$4,966.51	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					11	Oct 17, 2025	SYSTEM	\$10,506.27	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					12	Nov 3, 2025	SYSTEM	\$1,269.33	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$16,742.11	
			Price FUEL - Total					\$16,742.11	
	0080 -	Total						(\$130,550.68)	
	0090	TACK COAT	Material		2	Jun 2, 2025	SYSTEM	(\$4,031.00)	
				- Total				(\$4,031.00)	
			Material - Tota	ıl				(\$4,031.00)	
			MaterialCredit		3	Jun 16, 2025	SYSTEM	\$4,031.00	
				- Total				\$4,031.00	
			MaterialCredit	- Total				\$4,031.00	
			Overrun	Overrun	11	Oct 17, 2025	SYSTEM	(\$11,195.06)	
					12	Nov 3, 2025	SYSTEM	(\$20,049.36)	
				Overrun - T	otal			(\$31,244.42)	
			Overrun - Tota	al				(\$31,244.42)	
	0090 -	Total						(\$31,244.42)	
	0340	MGS GUARDRAIL	Construction Stockpile		10	Oct 2, 2025	SYSTEM	(\$2,362.60)	Payment Estimate Item Adjustment generated Stockpile Transaction
					11	Oct 17, 2025	SYSTEM	(\$3,780.15)	Payment Estimate Item Adjustment generated Stockpile Transaction
					12	Nov 3,	SYSTEM	(\$10,080.41)	Payment Estimate Item Adjustment generated Stockpile Transaction



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J1P3367	0340	MGS GUARDRAIL	Construction Stockpile	- Total				(\$16,223.16)	
			Construction	Stockpile - To	otal			(\$16,223.16)	
			Construction Stockpile		7	Aug 19, 2025	SYSTEM	\$20,324.63	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$20,324.63	
			Construction	Stockpile STI	MI - Total			\$20,324.63	
			Material		10	Oct 2, 2025	SYSTEM	(\$4,687.50)	
					11	Oct 17, 2025	SYSTEM	(\$12,187.50)	
					12	Nov 3, 2025	SYSTEM	(\$32,187.50)	
				- Total				(\$49,062.50)	
			Material - Tota					(\$49,062.50)	
			MaterialCredit		11	Oct 17, 2025	SYSTEM	\$4,687.50	
					12	Nov 3, 2025	SYSTEM	\$12,187.50	
				- Total				\$16,875.00	
			MaterialCredit	- Total				\$16,875.00	
	0340 -	Total						(\$28,086.03)	
	0350	MGS BRIDGE APP. TRANS SEC (EXT CURB)	Construction Stockpile STMI		7	Aug 19, 2025	SYSTEM	\$4,230.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			OTIVII	- Total				\$4,230.00	
			Construction	Stockpile STI	MI - Total			\$4,230.00	
	0350	Total						\$4,230.00	
	0360	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Construction Stockpile		10	Oct 2, 2025	SYSTEM	(\$14,420.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					11	Oct 17, 2025	SYSTEM	(\$10,300.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					12	Nov 3, 2025	SYSTEM	(\$30,900.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$55,620.00)	
			Construction	Stockpile - To				(\$55,620.00)	
			Construction Stockpile STMI		7	Aug 19, 2025	SYSTEM	\$65,920.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$65,920.00	
				Stockpile STI			a) ( a = = 1	\$65,920.00	
			Material		10	Oct 2, 2025	SYSTEM	(\$24,780.00)	
					11	Oct 17, 2025	SYSTEM	(\$42,480.00)	
					12	Nov 3, 2025	SYSTEM	(\$95,580.00)	
				- Total				(\$162,840.00)	
			Material - Tota					(\$162,840.00)	
			MaterialCredit		11	Oct 17, 2025	SYSTEM	\$24,780.00	
					12	Nov 3, 2025	SYSTEM	\$42,480.00	
				- Total				\$67,260.00	
			MaterialCredit	- Total				\$67,260.00	
	0360 -							(\$85,280.00)	
	0370	MGS END ANCHOR	Construction Stockpile		10	Oct 2, 2025	SYSTEM	(\$875.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$875.00)	
			Construction	Stockpile - To				(\$875.00)	
			Construction		7	Aug 19,	SYSTEM	\$875.00	Payment Estimate Item Adjustment generated Stockpile Transaction



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J1P3367	0370	MGS END ANCHOR	Stockpile STMI			2025			
				- Total				\$875.00	
			Construction Stockpile STMI - Total					\$875.00	
			Material		10	Oct 2, 2025	SYSTEM	(\$955.00)	
					11	Oct 17, 2025	SYSTEM	(\$955.00)	
					12	Nov 3, 2025	SYSTEM	(\$955.00)	
				- Total				(\$2,865.00)	
			Material - Total					(\$2,865.00)	
			MaterialCredit		11	Oct 17, 2025	SYSTEM	\$955.00	
					12	Nov 3, 2025	SYSTEM	\$955.00	
				- Total				\$1,910.00	
			MaterialCredit	- Total				\$1,910.00	
	0370 -	Total						(\$955.00)	
	0380	TYPE A CRASHWORTHY	Construction Stockpile		10	Oct 2, 2025	SYSTEM	(\$8,450.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		END TERMINAL (MASH)			11	Oct 17, 2025	SYSTEM	(\$8,450.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					12	Nov 3, 2025	SYSTEM	(\$23,660.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$40,560.00)	
			Construction	Stockpile - To	otal			(\$40,560.00)	
			Construction Stockpile STMI		7	Aug 19, 2025	SYSTEM	\$49,010.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$49,010.00	
			Construction Stockpile STMI - Total					\$49,010.00	
			Material		10	Oct 2, 2025	SYSTEM	(\$15,000.00)	
					11	Oct 17, 2025	SYSTEM	(\$30,000.00)	
					12	Nov 3, 2025	SYSTEM	(\$72,000.00)	
				- Total				(\$117,000.00)	
			Material - Tota	ıl				(\$117,000.00)	
			MaterialCredit		11	Oct 17, 2025	SYSTEM	\$15,000.00	
					12	Nov 3, 2025	SYSTEM	\$30,000.00	
				- Total				\$45,000.00	
			MaterialCredit	- Total				\$45,000.00	
	0380 -							(\$63,550.00)	
	0390	GUARDRAIL, RELOCATED AND MODIFIED	Material		10	Oct 2, 2025	SYSTEM	(\$1,375.00)	
		AND MODII IED			11	Oct 17, 2025	SYSTEM	(\$1,375.00)	
					12	Nov 3, 2025	SYSTEM	(\$2,750.00)	
			- Total					(\$5,500.00)	
			Material - Tota	ıl				(\$5,500.00)	
			MaterialCredit		11	Oct 17, 2025	SYSTEM	\$1,375.00	
					12	Nov 3, 2025	SYSTEM	\$1,375.00	
				- Total				\$2,750.00	
			MaterialCredit	- Total				\$2,750.00	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J1P3367	0390	- Total					(\$2,750.00)		
	0400	MISC. GUARDRAIL ITEM	Material		10	Oct 2, 2025	SYSTEM	(\$6,723.00)	
					11	Oct 17, 2025	SYSTEM	(\$1,245.00)	
					12	Nov 3, 2025	SYSTEM	(\$3,984.00)	
				- Total				(\$11,952.00)	
			Material - Tota	ı				(\$11,952.00)	
			MaterialCredit		11	Oct 17, 2025	SYSTEM	\$6,723.00	
					12	Nov 3, 2025	SYSTEM	\$1,245.00	
				- Total				\$7,968.00	
			MaterialCredit	- Total				\$7,968.00	
	0400	- Total						(\$3,984.00)	
J1P3367 -								(\$1,544,243.71)	
JNW0024	0440	MISC.	Material		6	Aug 4,	SYSTEM	(\$94,264.32)	
314440024	0440	AGGREGATE FOR BASE	iviaterial		0	2025	STSTEM		
				- Total				(\$94,264.32)	
			Material - Tota	1				(\$94,264.32)	
			MaterialCredit		7	Aug 19, 2025	SYSTEM	\$94,264.32	
				- Total				\$94,264.32	
			MaterialCredit	- Total				\$94,264.32	
			Overrun	Overrun	10	Oct 2, 2025	SYSTEM	(\$41,149.44)	
				Overrun - T	otal			(\$41,149.44)	
			Overrun - Tota	al				(\$41,149.44)	
	0440	- Total						(\$41,149.44)	
	0450	BIT. PAVEMENT MIXTURE PG58-28H (BP-1)	Other Item Adjustment	ACAD	6	Aug 4, 2025	brobsr1	(\$1,069.93)	This adjustment is being made for the 413.9 tons of BP1 that was paid for on estimate 0006
					7	Aug 19, 2025	brobsr1	(\$6,813.03)	This adjustment is being made for the 2,635.6 tons of SP125 asphalt that was used in leu of BP1 but paid as BP1 on estimate 0007.
					8	Sep 2, 2025	brobsr1	(\$23,658.58)	This adjustment is being made for the 9,365.1 tons of BP1 laid during this estimate period.
				ACAD - Total				(\$31,541.54)	
			Other Item Ad	justment - To	tal			(\$31,541.54)	
			Overrun	Overrun	8	Sep 2, 2025	SYSTEM	(\$224,062.03)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					9	Sep 12, 2025	SYSTEM	\$224,062.03	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',97.55400 - 96.89000, 'is applied (if non-zero).
				Overrun - Total					
			Overrun - Tota	al				\$0.00	
			Price FUEL		6	Aug 4, 2025	SYSTEM	\$193.75	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					7	Aug 19, 2025	SYSTEM	\$1,750.04	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					8	Sep 2, 2025	SYSTEM	\$6,218.43	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total					\$8,162.22	
			Price FUEL - T						
	0450	- Total						\$8,162.22 (\$23,379.32)	
		BITUMINOUS PAVEMENT	Other Item Adjustment	ACAD	3	Jun 16, 2025	brobsr1	(\$1,611.89)	This adjustment is being made for the 703.50 tons of Bit Base laid during this estimate period.
		MIXTURE PG64-22 (BAS		ACAD - Tota	al			(\$1,611.89)	
		F G04-22 (DAS	Other Item Ad					(\$1,611.89)	
			Price FUEL	,curiont - 10	3	lup 16	SYSTEM		Pafarance Itam Price Adjustment Index Adjustment Type applied in FUE
			FIICE FUEL		3	Jun 16,	SISIEW	(\$4/0.4/)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL



ct Lii	ne	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
24 04	60	BITUMINOUS PAVEMENT	Price FUEL			2025			
		MIXTURE		- Total				(\$476.47)	
		PG64-22 (BAS	Price FUEL - 1	otal				(\$476.47)	
04	60 -	0 - Total						(\$2,088.36)	
04	70	ASPHALTIC CONCRETE	Other Item Adjustment	ACAD	6	Aug 4, 2025	brobsr1	(\$42,327.05)	This adjustment is being made for the 16,374.1 tons of SP125 paid for on estimate 0006
		MIXTURE PG 70-22 (SP125C MIX)			7	Aug 19, 2025	brobsr1	(\$28,000.46)	This adjustment is being made for the 10,831.9 tons of SP125 produced and paved during this estimate cycle and being paid on Estimate 0007
				ACAD - Total				(\$70,327.51)	
			Other Item Ad	justment - To	tal			(\$70,327.51)	
			Price FUEL		6	Aug 4, 2025	SYSTEM	\$7,665.04	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					7	Aug 19, 2025	SYSTEM	\$7,192.37	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$14,857.41	
			Price FUEL - 1	otal				\$14,857.41	
04	70 -	Total						(\$55,470.10)	
04	80	TACK COAT	Overrun	Overrun	8	Sep 2, 2025	SYSTEM	(\$2,936.24)	
					9	Sep 12, 2025	SYSTEM	\$2,936.24	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',2.78000 - 2.78000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
04	80 -	Total						\$0.00	
04	0490	SCRUB SEAL	Material		6	Aug 4, 2025	SYSTEM	(\$138,026.84)	
				- Total				(\$138,026.84)	
			Material - Tota	ı				(\$138,026.84)	
			MaterialCredit		7	Aug 19, 2025	SYSTEM	\$138,026.84	
				- Total				\$138,026.84	
			MaterialCredit - Total					\$138,026.84	
04	90 -	Total						\$0.00	
05	00	FURN & PLACE BIT. MATL FOR CL C PARTIAL		Overrun	4	Jun 30, 2025	SYSTEM	(\$169.98)	
					6	Aug 4, 2025	SYSTEM	\$169.98	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',113.32000 - 113.32000, 'is applied (if non-zero).
				Overrun - Total				\$0.00	
			Overrup Tet					\$0.00	
0.5	00	Total	Overrun - Total						
			0.404	0.44	4	lur co	CVOTELL	\$0.00	
05	10	REMOVAL FOR CLASS C PARTIAL DEPTH PAVT REPAIR	Overrun	Overrun	4	Jun 30, 2025	SYSTEM	(\$3,045.98)	
					6	Aug 4, 2025	SYSTEM	\$3,045.98	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',324.04000 - 324.04000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Total					\$0.00	
05	0510 - Total							\$0.00	
		MGS GUARDRAIL	Construction Stockpile		7	Aug 19, 2025	SYSTEM	\$1,887.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$1,887.00	
			Construction	Stockpil <u>e STI</u>	VII - Total			\$1,887.00	
07	30 -	Total						\$1,887.00	
		MGS END ANCHOR	Construction Stockpile		7	Aug 19, 2025	SYSTEM	\$1,750.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$1,750.00	
				- Total				\$1,750.00	





Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JNW0024	0740	0740 MGS END Construction Stockpile STMI - Total ANCHOR						\$1,750.00	
	0740 - Total							\$1,750.00	
	0750	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile STMI		7	Aug 19, 2025	SYSTEM	\$3,380.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$3,380.00	
			Construction	Stockpile STI	VII - Total			\$3,380.00	
	0750 -	Total					\$3,380.00		
JNW0024	- Total						(\$115,070.22)		
Overall - T	otal						(\$1,659,313.93)		

# MoDOT

# Contract Adjustments for Contract - 240621-A01

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 16 of 16